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B X =Ny xNp B2 HER% S %
(nlaml)’lz(”%mz) < n1+mo=mng+my
CEDEHTAEE, CHEMGE S X B AEMBETH B I L AR
) (D)n+m=n+m &b (n,m) L (n,m) TH5. (2) (n1,m1) = (na,ma) THBLRET 5. —IHHE
BEDEELD it me=not+mi THENS, EBEEDEANEZBE, no+mi =n1+me £,

—IEBAR Z DEBHED (o, ma) K (ny,my) BESNB. (3) (n1,m1) 2 (n2,ma) B (na, ma) 2 (ng, ms)
THhDLIRETS. ZIHBER z DEHLD ni+mo =no+mi, No+mz=n3+mo THEHINO,

(711 =+ mg) —+ mao :(m + mg) —+ ms = (n2 —+ ml) —+ ms

=(ng +m3) + mp = (n3 +ma) + my = (n3 +my) + mo

DK D VA IRz & D ny+mg =ng+m NEsNng., IEHBIfR "}3 DEHLD (n1,m1) 5 (n3,m3)
Y. Bibde, —HEER LR X CBY3RMEBEGTHS. =



